INDIAN SCHOOL AL WADI AL KABIR

Class: VI

Pre-Mid-Term Revision Paper (2022-23)

MATHEMATICS

Max Marks: 30

Time: 1 hour

Instructions:

Section A:

Multiple Choice Question (Q.1 to Q.4)

Section B: Short Answer Questions of 2 marks each (Q.5 to Q.8)

Section C: Long Answer Questions (Type — 1) of 3 marks each (Q.9 to Q.10)

Section D: Long Answer Questions (Type — 2) (Q.11 to Q.12)

& Case study Question (Q.13) of 4 marks

Section A: Multiple Choice Question (Q.1 to Q.4) of 1 mark each

The number 896734 rounded off to nearest ten thousand is written as:

A 890000 B 90000 C 900000 D 89000
Predecessor of the greatest four-digit number is:

A 10,000 B 99999 C 99998 D 9998
Which of the following Roman numeral represents the number 59?

A LIX B XLIX C VXIX D LXIX
Identify the name of the property: 32 x (25 x 14) = (32 x 25) x 14

A Commutative B Associative C Closure D | Distributive

Section B: Short Answer Questions (Type — 1) of 2 marks each (Q.5 to Q.8)

Represent and find the value of 7 - 5 using number line
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6. | Insert commas and write the number name in International system: 24007945
7. | In an election, the successful candidate registered 9,67,299 votes and his nearest rival secured
8,09,235 votes. By what margin did the successful candidate win the election?
8. | A milkman sold 13 litres of milk in the morning and 12 litres of milk in the evening. Find the total
litres of milk sold in the month of March?
Section C: Long Answer Questions (Type — 1) of 3 marks each (Q.9 to Q.10)
9. | Find the difference between the largest and the smallest five-digit number that can be formed
using the digits 8, 0, 3, 9, 2.
10. | Find the by value of the following by using suitable property:
45678 x 65 + 35 x 45678.
Section D: Long Answer Questions (Type — 2) (Q.10 to Q.12)
& Case study (Q.13) of 4 marks each
11. | Find the sum and product by suitable re-arrangement.
a) Find the product by suitable re-arrangement: 16 x 3978 x 625
b) Find the sum by suitable re-arrangement: 378 + 335 + 622 + 365
12. | Mr. Raj had %6,10,000. He gave X 87,500 to Jyoti, X 1,26,380 to Jeeva and X 3, 50, 000 to Reji.
How much money was left with him? Find the total amount given to Jeeva and Jyoti?
13 | Case Study:

At a Carnival food festival programme, 3972 tickets were sold in the year 2000. In 2001, the
sale was 4975 tickets. In 2002, sale was increased by 1000 more. Cost of one ticket was %50,
%70 and X100 in each year respectively
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Find the number of tickets sold in the year 20027?

A 4975 B 5975 C 5200 D 8947
Find the amount collected in the year 2000?

A X2,48,750 B %1,89,600 C X1,98,600 D | %1,88,600
Find the difference between the amount collected in the year 2000 and 2002?

A X3,98,900 B %1,19,650 C X3,88,600 D | %2,29,700
Find the total amount collected in all three years?
A | R12,45,750 B %10,45,650 C %12,45,650 |D |%11,44,350
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ANSWERS

Q.1) C Q.2)D Q.3) A Q.4) B
Q.6) 24,007,945
Q.5) 2.(use no. Twenty-four million Q.7) 1,58,064 Q.8) 775 litres
line) seven thousand nine "

hundred forty-five.

Q.11) a)39780000 Q.12) %46,120

.9) 77,931 .10)4567800
Q9) Q-10) b)1700 %213880

Q.13) 1-B, 2-C,
3-A,4-D
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